
DOLLY FÜR 6X BODENPLATTE 80 X  80 CM
115170

www.GLOBALTRUSS.de@realGlobaltruss/GlobalTruss

A

1

DETAIL A
SCALE 1 : 5

2

3

9 6 7

8 7 6

 2
74

,7
 

 900 

 1
22

 

4

ITEM 
NUMBER PART Drawing / 

Standard QUANTITY

1 Dolly Frame 0132.1 1
2 Side Plate 0132.2 4
3 Mounting Plywood 0132.3 2
4 Case 0132.4 1

5 Swivel wheel with brake 
125mm 4

6 Nut M8 DIN 985 24
7 Washer M8 DIN 125 40
8 M12x110 Screw DIN 912 16
9 M8x60 Screw DIN 931 8

A

1

DETAIL A
SCALE 1 : 5

2

3

9 6 7

8 7 6

 2
74

,7
 

 900 

 1
22

 

4

ITEM 
NUMBER PART Drawing / 

Standard QUANTITY

1 Dolly Frame 0132.1 1
2 Side Plate 0132.2 4
3 Mounting Plywood 0132.3 2
4 Case 0132.4 1

5 Swivel wheel with brake 
125mm 4

6 Nut M8 DIN 985 24
7 Washer M8 DIN 125 40
8 M12x110 Screw DIN 912 16
9 M8x60 Screw DIN 931 8

A

1

DETAIL A
SCALE 1 : 5

2

3

9 6 7

8 7 6

 2
74

,7
 

 900 

 1
22

 

4

ITEM 
NUMBER PART Drawing / 

Standard QUANTITY

1 Dolly Frame 0132.1 1
2 Side Plate 0132.2 4
3 Mounting Plywood 0132.3 2
4 Case 0132.4 1

5 Swivel wheel with brake 
125mm 4

6 Nut M8 DIN 985 24
7 Washer M8 DIN 125 40
8 M12x110 Screw DIN 912 16
9 M8x60 Screw DIN 931 8


